(@ Ny, /dndeC

Ratio to ATLAS

=
e¢)

=
o

1.2

0.8

0.6

0.4

0.5

7000 GeV pp Underlying Even

- r - rr T T T T T T T T T T Y
d o

o ca _
B <N_> vs @°* (n| < 2.5, p >0.5GeV, p_>2 GeV) 1z
- 13
— m ATLAS —Q
- & Pythia 6.427 346 n
- Pythia 6.427 347 =
_— Pythia 6.427 348 o
o Pythia 6.427 349 15
— —A— Pythia 6.427 370 &
— o
- — ™
@
| Ay 15
_. A NVARVZAY. . 8
. (A >
I Y= mmm [IALTALIA Dol <
ey S AAAAANARSE IO 9 >5
— M R ot T sk
T I
- — O
- myS
(0]
B -1 O
- 1
- Sjye
o
— -1 O
1, , N R T R R S R , P T R R TP R -

_| T T T | T T T T | T T T T |

2

0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


